RAClients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, FL-15213.33

1 plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition (2014) Florida
Building Code (FBC) structural requirements excluding the "High Velocity Humicane Zone"
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be

protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

52.75" MAX. OVERALL
FRAME WIDTH

37.50" MAX.

15.25" MAX.

FRAME WIDTH

FRAME WIDTH

98.00" MAX. OVERALL FRAME HEIGHT - INSWING
96.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

TABLE OF CONTENTS

SHEET# | DESCRIPTION

pa—

Typical elevations, design pressures, & general notes

Door panel details

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masonry construction

V|0 |N[(ov[O | A (WIN

Bill of materials, glazing details & components

FULL LITE

52.75" MAX. OVERALL
FRAME WIDTH

n
[0}
n
.M
oM
Z
£ 4
o
0w .
E oo
Z09gM
o <L|f)|—
R =5
" o J o0
.... cee-® \\ :>>F50!
R‘)\\ (77
W gomo
i1 ”“‘é oN:”
v S <
v O O XZ
Yle ¢ z Q0O
LE = m
“u [ Ia) (]
N lg £0O 0 . Ew
X[E A% 5925
N L T¢ modoLw
2
(o]
o C
E 6%
3 T .
g gu
o Jo

, DESIGN '%(M/

%)

e

o

=

't —

S &

= D

=5 =z 2

OU') .o C—DLLI

T2l =5

= 3
283 o

jmm wn

T2 o

B B -

5 “le S

> olan

3 |~

@ a

& &

Sio

3/4 LITE

REVISIONS

52.75" FULL LITE | 21.00" x 79.00" 7.00"

INSWING X X
98.00" 3/4 LITE | 21.00" x 63.00" 79.00"
52.75" FULL LITE | 21.00" x 79.00" 7.00"

OUTSWING X X
96.50" 3/4 LITE | 21.00" x 63.00" 79.00"

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

NO, DATE

DATE: 02/16/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

+42.0 -48.0

+42.0 -48.0
Gl

+42.0 -42.0

+42.0 -42.0

DRAWING NO.:
FL-15213.33

SHEET 1 ofF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



&
n
55 g 1
ERN NN
(48) O INTERIOR (44) ;=0
Ega,
'y T < 'C
- v = n
: e~ N \ Z0wp o
I N ~N };‘ gRn :: z
(] B o xz<
BEg 28,0
E9% 5928
EXTERIOR e %2 @aal
@ P
®) if =
3 .
1\ HORIZONTAL CROSS SECTION : R
/D 2‘75,, ].2" T_> o Jo
——1.59" ——| | T
= w0
s RS 39 o =
0 A . ¢8| &
— =0 =
35.75" MAX. 35.75' MAX. - 9 ] // e
PANEL WIDTH PANEL WIDTH HAE
l . 21.00" MAX. , . 21.00" MAX. TOP RAIL LATCH & HINGE LATCH & HINGE STILE. |NTERIOR EXTERIOR QeElE
D.L.O. WIDTH D.L.O. WIDTH Callbiar By Stile support s s
159 // 5 g =
. n II =)
— & &
/ o
= ya f 1 55 5
= = B / -
5 = 5 O BOTIOM RAIL (7, STILE REINFORCEMENT b
E2) 55 ‘ Cellular PVC 5
— i —1 — 8 e
L T [TH) . ~—~
z : Zz 0O 1 =
5 =% X EXTERIOR GLAZING COMPOUND g 2
x O x < “ =l
S = Qo : o 0.5" GLASS 1" MIN. b &
8 3 @ 8 8 _| /// (10 BITE GLASS THK. o| [
Z 8 27 / o| N2/ . =
= & = ‘ 1/8" TEMPERED 5
o N i /GLASS g
0 & s . ——AIR SPACE -
X NE
N = OPTIONAL NS
\DECORATIVE INSERT 3
: \— AR SPACE -2
d 1/8" TEMPERED DATE: 02/16,/12
DOOR PANEL DOOR PANEL CLASS /g\ VERTICAL CROSS SECTION e NTS,
Ful lfte 3/4Tte CLAZING SPACER \2/ owe. B: UK
INTERIOR - CHK. BY: LFS
R #8x1-1/2" PFH LA
LIP LITE ODL/WESTERN REFLECTIONS HP _
1) GLAZING DETAIL hiald-id
SHEET _2 oF _9

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 2.7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 3.7

13.75" MAX.
SIDELITE
7.00" MAX. | PANEL WIDTH
D.L.O. WIDTH D
/
Va
/
—
5 =
= ING
] T
Z o
o —i
D VA \3/
[a) < /
5 = /
< =
< S
= Q
& /
Va
/

@ SIDELITE PANEL

53

INTERIOR 52) (41
51
§§ §§
EXTERIOR
39
@ HORIZONTAL CROSS SECTION
3
— 1.18" |=—
] 100" —f=—
h].sa" *‘ i} T =S f
SIDELITE TOP & BOTTOM RAIL 52 CONTINUOUS SIDELITE STILE ( : ) SIDELITE STILE
Cellular PVC Reinforcement Cellular PVC
EXTERIOR GLAZING COMPOUND
0.5" GLASS 1" MIN.
BITE GLASS THK.

1/8" TEMPERED

/]—

/ GLASS

. ——AIR SPACE
s OPTIONAL

\DECORATIVE INSERT
AR SPACE

\ 1/8" TEMPERED

GLASS
GLAZING SPACER
INTERIOR #8x1-1/2" PFH
LIP LITE ODL/WESTERN REFLECTIONS HP

@ GLAZING DETAIL

//
/4

INTERIOR EXTERIOR

//
7

@ VERTICAL CROSS SECTION
3

BUILDING CONSULTANTS,
P.0. Box 230, Valrico, FL 33595
Phone No.: 813.659.9197

FBPE C.A. No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
SIDELITE PANEL DETAILS

PRODUCT:

K
BY

REVISIONS

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

e
<
a
o
z
2

OATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.33

SHEET 3 oF 9

© zo012 R.W. BUILDING CONSULTANTS INEC.




R:Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 4.7

NOTE:
1. Sidelite panel secured to the sidelite
frame with (6) of item #22 located
5", 22.05", 39.10", 56.15", 73.2", & 90.25"
from top of each jamb and (2) of item

(1
4/

#22 in the head and sill 3" from each end

1-1/4" MIN.
EMSB. (TYP.)
y b4 Q 0.15"
g —=| |=— C'SINK
o (L) (rvP,)

' ™)

I

.4 SLILIII1111111/

(8)
(D)

<l

/ /
/// 17 ///

q N q

3 4

AV
-_ a < “ :
- <R D
b B
: . 4a
b : l

L1111 111117770777

a4
. 5
b :

111117

i
WS
%

X

L éé@b

m HORIZONTAL CROSS SECTION

W Outswing shown - inswing

also approved

INTERIOR

| /

)

‘\\
®
g

//

INTERIOR

.

EXTERIOR

o
SEE@ L
NOTE 1 o
1-1/4' MIN.

EMB. (TYP.)

7“4\ HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

EXTERIOR

o ®

50

7“2\ HORIZONTAL CROSS SECTION

W Outswing shown - inswing

also approved

EXTERIOR

®)

0.15"
C'SINK
(TYP.)

NOTE 1

m HORIZONTAL CROSS SECTION
W Outswing shown - inswing

also approved

] :
L 5
N -
< //////////////A/// b4
& oy
= ( OLRTETTTTSS -
. .
. P
( .
. 4 E
D .

1-1/4" MIN.
EMB. (TYP.)

10
)
o)
.9
%n
£ N
Lo
0n .
E oo
Z 0q
. St
3 Jo0©
324
D 2 c
\ omn®
5\“ O
v O 0 Xz
® ¢ z 0
g Eo 500
a £0 c
.
g 8 502
F 9 =
¢ oo
=
o
¢ ¢
£ 6% §
= N © I
6 su
o 2o

FBPE C.A. No. 9813

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

JK
BY

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

=
<
I
o
=
2

oaTE: 02/16/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.33

SHEET 4 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOg gaNiaung

‘M'd 2102 QO

€186 'ON V'O 3Idgd SNOISIATY
L616°6G9°CL8 'ON euoyd Ag Jlvd [ON|«N o,
S6SES 74 ‘O9UIDA ‘OSZ XO8 ‘O'd \Su SHOILIAS SS0H9 Tvdkuah Mr | o83 (+102) 3 AIS ol 3vadn| si/zz/v0) L | 4| X | L] %
"ONI ‘SINVLINSNOD 9NIaTiNg g X18W3SSY ¥0 1dvd 2] ford I ol P R
,c:xc&::e ¥000 SSY 19438l NG gw 5_
o2 WNO/ely, 60¥SF ‘ON ‘3'd ONI 0¥dLSY1d N |slsle T
MO’ Ao QOY,  pwyss ‘4 uopus NEIM M ER
//.W/ RV} &\\\ wldle|x|E|B
~ - 5 )~ :Ag peJodeld sjuswinooq :10NAa0Yyd HEIRES %
; €= vz
¥ ¥ - 7 \m.
F . 6OVEPON ;=
‘\ ". ..- ,,l
P °
\\\\ &Qo-\- -.wmqmmﬂ\/uow' /////
\\\\\\ s:ow /////
iy
(a4
o
(2’4
= =
- )
b=
('dAL) ‘aw3 Q
NIW .#/1-1 D
als
N Q|c
[<4=]
v2
-t =
< o
Ul o
- =(c
o g2
= £
S =
v J < (10
el =
Zl O
=
(®)
(1T
/ < %
193
Q|3
X Qs
1K
-
SIE
=
o &2 )
o &I (‘dAL) aWa _|
oz > NIW .#/1-1
=
5l (o
(‘dAL) "aw3
NIW ./ 1-1
/§
i
. " ('dAL)
- = JANIS.O
v T 510
4 v 4
v o o [a%
7111171111777 ﬁlu = ﬁlv -4
e Q9 e )
e =
zl Q2 Z 2
= c = c
il | i
Q& | alo
o] Olg
5|53 Ol
N 363 =i O
~ glea Se
=0 . =2
&2 | . &5
>0T - >0
5 3 -
= - = @ s ™ (W0
= = .
LN
("dAL) "aW3
NIW #/1-1

£'S BMP'OE-£Z'€TZST-14\WuaLIND\sBUIMeIQ - D\ETZST-T4\slenouddy 1onpoud epLOII\LNINYINYEA dul ‘0idiseld\s1ualio\y



\
S
N .
d S: g
S5ig e”
i ie YN s =y A ] ;o;@ =gy
LAY v Cq <A i . - 5 0 S e b AT, . :m"'9 "2 63
‘ v. S o9 »V C - V . a . .. ¢ ”)... o '_—l.ato(n
Q ik 4V . v.v §< . ) . a ‘.q . <. - . X s . . /// D =) > rri(”
AROERIES AR IO S Uy, K PR B 52
S N iy \Q‘s. 8N %
Z Zo Zo L g ¢
.>< = @/ sg Y[ E, 2§§d
z N * & & % £Q 9 cuw
z L — - 5 O on
] o TE AN 2 Bdee
SAS () Z gL,
) J NOTE 1 § E""' g
SEE A? / v T 8 3o
NOTE 1 ; / .
@) ZiE # =
o= o =
(50) © EXTERIOR INTERIOR o8 8
=0
EXTERIOR T NYERIGR (2" VERTICAL CROSS SECTION 2l 3
INIERIUR \U Shown w/1X sub-buck 5 é S
SEo]
1"\ VERTICAL CROSS SECTION ol 3
wOu’rswing shown - inswing NOTE: 5 o) E
also approved 1. Sidelite panel secured to the sidelite 2 | >
frame with (6) of item #22 located g %
5", 22.05", 39.10", 56.15", 73.2", & 90.25"
from top of each jamb and (2) of item X%
#22 in the head and sill 3" from each end I_Nm EXTERIOR
/i
(@)
m
EXTERIOR INTERIOR e
// SEE 3
[aV]
"@NOTE ] - %
sl S
w
® 5 b
= (39 o| |7
Z i = =
= Za
ZE (34) ¢ 5
=2 C@\ S g
~ G
['p]
- . : - N[
_ e . z 7 @ N
> o ‘ a ; b 4 < } =
Pal 7. . g ‘ - ‘ - @ a ] =
a9 4 C . . i N ! = %
v A 4 < AA R . o . ‘
- . ‘ - DATE: 02,/16,/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
m VERTICAL CROSS SECTION m VERTICAL CROSS SECTION ORANNG' NG
w Outswing configuration w Inswing configuration FL-15213.33
SHEET _6 ofF _9

R:AClients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 6.7

© 2012 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 7.7

|t ——

-~

: Tt
]
il Il
7 TYP. HEAD i
MASONRY . | & JAMBS ] a
OPENING Il
||
||
L || A
MULLION I
2X BUCK S;E??@(ENF&R 11
™ ONLY 1|
L 1] |
Il
— Il
L ]
1L 1] i
: — M
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

24" MAX
ON CENTER

86.75"

60.13"

34"

HINGE JAMB

ITW " \lJ {1] A\
Ameon® | 174 1-1/4 2 4

ELCO - ,, - .
uttracon®  V/ 1-1/ 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

&
o = o = 6"1 — 3"
'AJ"._ . ‘ '-:‘.A'_ 4‘-_‘. "I:/ 3" |<:—‘ ‘
. I I I
L 2
\ ooy et e ———
MASONRY TYPJ' :'&’;‘? &
OPENING
< &
TYP iz
FRAME—" ' 2
TYP. 35
2X BUCK—X
ot TYP. @ SILL TYP. @SILL
q.‘ - 1 /

FRAME ANCHORING
Masonry 2X buck construction

//

O

bl.\

T T T 1

20,
~(D

HINGE DETAIL

49.88"

=]
|
l

10.7¢"

STRIKE JAMB

Ox

@

N

LATCH & DEADBOLT DETAIL

0
o)
0
D)
gr‘)
£ N
d e
[ =
£ g0
. <c@2
> _1>0«>8
=l )
D g.."_’.
Ow o
W Gmn%2
) ong
- B o xz<
o T ZzZ 970
§ Eoa 30¢
a £0 _l.CLIJ
801- —oOCL
n_(I)rr) D~ Lem
¢ Mmook
gy
o
Q C
E 6% §
3 U .
g su
o 2ad

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
BUCK MASONRY CONSTRUCTION

BUCK & FRAME ANCHORING 2X

PRODUCT:

K
BY

REVISIONS

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

L
<t
()
S
Z
2

DATE: 02/16/'1

SCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL—15213.33

SHEET / ofF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 8.7

=&
=
s

34"

60.13"

86.75"

HINGE JAMB
CONCRETE ANCHOR NOTES:

%

g |~
CLslger Tua a7 "‘{ N ‘—73"
|

6"

I

14.5" MAX
ON CENTER

TYP. @ SILL

e I I
< L PR ot
s TYP. HEAD &
7‘ | JAMBS ] —
MASONRY
OPENING
TYP.
FRAME / - — -
1X BUCK \
N~
E TYP. @SILL
= . — —
% | |
FRAME ANCHORING

Masonry 1X buck construction

1. Concrete anchor locations at the comers may be adjusted fo maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ITW " "
1apcon® | V 1-1/

2"

4"

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

i
ey

HINGE DETAIL

10.76"
[
]

%:@

LATCH & DEADBOLT DETAIL

STRIKE JAMB

g

v I
=

Z

0
o
0
.9
%n
£ N
-
.l_
E 0O
Z 04
gt
0o
SR
\) %.t—
o
w omn®
u>J' ON'(;
'o..'a 0 Xz
. 0
EE Zm
] [2)] o [0
a £O J . £
e 9 S5o028
) t o
&+ Do
g
o
o c
£ §2 §
3 U .
g £u
o 2

FBPE C.A. No. 9813

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

FRAME ANCHORING 1X BUCK
MASONRY CONSTRUCTION

JK
BY

1 104/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<
()
3
=
2

DATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.33

SHEET 8 oF 9

© z2o12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 9.7

BILL OF MATERIALS

75"

4.56"

1.22"

N

bl —

HEAD & SIDE
Jamb

213"

ITEM| DESCRIPTION MATERIAL

A | 1XBUCK SG >=0.55 WOOD

B | 2XBUCK SG >=0.55 WOOD

C | 1/4"MAX. SHIM SPACE -

D |1/4"X2-3/4"PFH ELCO OR ITW CONCRETE SCREW STEEL

g |MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4"X2-3/4" PFH ITW CONCRETE SCREW STEEL

H | 1/4"x3-1/4"PFH ITW CONCRETE SCREW STEEL

| | 1/4"X2-1/4" PFH ITW CONCRETE SCREW STEEL

J | 1/4"X 3-3/4" PFH [TW CONCRETE SCREW STEEL

L | #10X2-1/2" PFH WOOD SCREW STEEL

M | #9 X2-1/4" PFH WOOD SCREW STEEL

5 |#10X2"PFH SCREW STEEL

6 | SEALANT SILICONE

7 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM

8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM

9 | 4" X 4"BUTT HINGE STEEL

10 | #9 X 1" PFH WOOD SCREW STEEL

11 | #9 X 3/4" PFH WOOD SCREW STEEL

17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL

18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
22 | #8 X 2" PFH SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT PLATE STEEL
29 | SIDELITE SPACER PVC
30 | INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL
31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD
32 | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM. IND. VINYL
33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
35 | SHOE MOULD 5/8" X 3/8" WOOD
38 | GLAZING SPACER ALUM.
39 | LIP LITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 | DOOR SKIN {MIN. 0.086" THICK) FIBERGLASS
42 | TOP RAIL CELLULAR PVC
43 | LATCH & HINGE STILE EDGE CELLULAR PVC
44 | CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD

45 | BOTTOM RAIL CELLULAR PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47 | STILE REINFORCEMENT STEEL

48 | REINFORCEMENT RETAINING SCREW NYLON

49 | GLAZING COMPOUND SILICONE

50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

51 | SIDELITE STILE EDGE CELLULAR PVC
52 | SIDELITE STILE REINFORCEMENT WOOD

53 | SIDELITE TOP & BOTTOM RAIL CELLULAR PVC
55 | #8x 1-1/2" PFH LITE FRAME SCREW STEEL

5.63"

Ca

N

@ ADJUSTABLE INSWING THRESHOLD

——I 91" ’<~

2.38"

]

29 SIDELITE SPACER

L—1.38——-

4.56"

—

—>| 1.38" |<‘

@ ADJUSTABLE INSWING THRESHOLD

4.68"

I:w\«\‘\*\

\>‘ I‘ 252"
]

2

@ OUTSWING BUMP THRESHOLD

\J 1.25"  |f=—

0
o0
0
)
oM
z
= 1
g
(,).-‘_
E oo
Z0gmM
° <l-|0‘—
. E T
1 000
:>>,,50)
D e Gdns
\ omP2
N O AN -
m_._' 0<-
32 28%0¢
§Ea 500
n.%O O . cuw
e g 5024
LT oo
2w,
c 0
o C
£ 672 §
3 U .
g Su
o 2o
2
S
Oz L
(_50 D=
=z = NS
=0 no
4=
235 =8
o <[5 5
= o =
n Ol= q::'B
SD:“JE
| » )
QO L=
.. T|Y o=
5 e Lo
3 ol 2°
o F| o
x <
o o
x>
m
8
o
sy
S
N n
1|1z
5| 6
Il >
=
o
O |
o
i
o
a
>
wn
Ll
N[=
QUS
<
O O
_lo
z
DATE: 02/16/12
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15213.33

SHEET 9 ofF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



